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NEW QUESTION 1
Which three technologies are used in an SD-Access Fabric? (Choose three.)

A. MPLS
B. TrustSec
C. VXLAN
D. OTV
E. LISP
F. RSVP

Answer: ACE

NEW QUESTION 2
Which party solution integrates with Cisco’s security and network portfolios within the ISE?

A. 25+ 3rdparty solutions
B. 20+ 3rdparty solutions
C. 30+ 3rdparty solutions
D. 45+ 3rdparty solutions
E. 60+ 3rdparty solutions

Answer: E

NEW QUESTION 3
Which two platforms can host a vEdge Cloud Router? (Choose two.)

A. Microsoft Azure
B. Dreamhost
C. AWS
D. DigitalCloud
E. Google

Answer: AC

NEW QUESTION 4
Where does the Cisco V-Edge Router perform QOS traffic classification?

A. Per VPN
B. Per vEdge
C. Egress interface
D. Ingress interface

Answer: D

NEW QUESTION 5
What definition is not part of 4D Training?

A. Demo
B. Discover
C. Deploy
D. Defend
E. Design

Answer: D

NEW QUESTION 6
Which two options are used as part of an ISE POV? (Choose two.)

A. Youtube
B. CiscoTV
C. dCloud
D. POV Kit
E. Implementation on Production Network

Answer: CD

NEW QUESTION 7
Which protocol is used between an Endpoint and a Switch with an 802.1 authentication?

A. RADIUS
B. EAP
C. MAB
D. TACACS

Answer: 
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NEW QUESTION 8
Which three options describe fabric overlay concepts? (Choose three.)

A. A link state routing protocol like OSPF
B. A virtual Local Area Network
C. An Overlay uses alternate forwarding attributes
D. GRE is a type of Overlay
E. Intermediate System to Intermediate System
F. An Overlay is a logical topology

Answer: BDF

NEW QUESTION 10
......
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